
www.ansermfg.com Quality Trailer Systems Built for the Long Haul 28 

Heavy Duty Quad-Axle Reach 

Item Part Number Description Qty 

1 RE-A02-S01 Inner Tube 1 

1.1 RE-COM-007(a) Comp Mount Plate - QA 1 

1.2 RE-COM-011(a) Inner Compensator Support - Quad Axle 1 

1.3 PFS CSH8C78-212 Socket Head Capscrew GD8 Bare 4 

2 RE-A02-S03 QA Compensator Housing - Poly 1 

2.1 PRE 536(A/B) 536 Front End Bushing Assembly (Rubber / Poly) 1 

2.2 PRE 207S 90,000 lb Swivel Drawbar Eye 1 

2.3 RE-COM-030(a) Quad Mounting Plate 1 

3 RE-A02-S09 QA Air Pin Slider Assembly 1 

3.1 COM-116 Pin Collar 1 

3.2 COM-A16 Index Pin 1 

3.3 COM-A17 Yoke Assembly 1 

4 ANS M-E-2.5 X 34.5 Spring Bunk / Reach (2 1/2" x 34 1/2" x 1/2") 2 

5 70 Chain x 0.500 70 Chain x 1/2" - 8 Links 2 

6 1018455 G-209 Screw Pin Shackle, 1/2" 4 

7 TSE 16S Service Brake Chamber 16S 1 

8 TSE 24S Service Brake Chamber 24S 1 

9 RE-A02-025 Air Pot Guard 1 

10 RE-A02-S08 Air Clamp Assembly 1 

11 RE-COM-A08 Reach Lift Cable Pin 1 

12 WES LRS1x4x3 Lift Ring, 4'-6", 3 Press 1 

13 G-450 (7/8") U-Bolt Wire Rope Clip 2 

14 PRE 424(L/R) 440 Hinge Assembly Housing 2 

15 PFS FW878ZD Washer, Flat, 7/8", GD8, Zinc Dipped 4 

16 PFS LNN8C78P Nut, Nyloc, Hex 7/8" UNC 4 



www.ansermfg.com Quality Trailer Systems Built for the Long Haul 29 

Light Weight Quad-Axle Reach 

Item Part Number Description Qty 

1 RE-A12-S01 Quad Light Inner Tube 1 

1.1 RE-COM-007(a) Comp Mount Plate - QA 1 

1.2 RE-COM-011(a) Inner Compensator Support - Quad Axle 1 

2 RE-A02-S03 QA Compensator Housing - Rubber/Poly 1 

2.1 PRE 536(A/B) 536 Front End Bushing Assembly (Rubber / Poly) 1 

2.2 PRE 207S 90,000 lb Swivel Drawbar Eye 1 

2.3 RE-COM-030(a) Quad Mounting Plate 1 

3 RE-COM-A07 Positive Pin Reach Lock 1 

4 ANS U3082-3 Reach Clamp Assembly 1 

5 ANS M-E-2.5 X 34.5 Spring Bunk / Reach (2 1/2" x 34 1/2" x 1/2") 2 

6 70 Chain x 0.500 70 Chain x 1/2" - 8 Links 2 

7 1018455 G-209 Screw Pin Shackle, 1/2" 4 

8 PRE 424(L/R) 440 Hinge Assembly Housing 2 

9 RE-COM-A08 Reach Lift Cable Pin 1 

10 G-450 (7/8") U-Bolt Wire Rope Clip 2 

11 WES LRS1x4x3 Lift Ring, 4'-6", 3 Press 1 

12 PFS RNH8C78P Nut, Regular, Hex 7/8" UNC, GD8 4 

13 PFS FW878ZD Washer, Flat, 7/8", GD8, Zinc Dipped 4 

14 PFS CSH8C78-212 Socket Head Capscrew GD8 Bare 4 



www.ansermfg.com Quality Trailer Systems Built for the Long Haul 30 

1 Stage Tandem Reach 

Item Part Number Description Qty 

1 RE-COM-A01 79.5" x 3/8" Wall Compensator Pole 1 

1.1 RE-COM-001 Compensator Stop Ring 1 

1.2 RE-COM-025 Compensator Tube, 79.5" x 3/8" 1 

1.3 ANS U3082-41 Reach Eye Casting 1 

2 RE-COM-A05 Compensator Housing 1 

2.1 ANS CHB4 Bushing Compensator Housing 4 

2.2 ANS U3082-21 D-Ring Casting D-Ring 1 

2.3 RE-COM-003 D-Ring Compensator Bracket 1 

2.4 PAP 300 307 Pin Spring, 1/4" x 3/4" 7 

2.5 EUC E-1418 Spring, Rat Trap (Retainer Spring) (1 1/8" x 4 1/2" x 1/8") 2 

3 RE-COM-007 Compensator Mount Plate 1 

4 RE-A04-003 Compensator Support 1 

5 PFS CSH8C78-212 Socket Head Capscrew GD8 Bare 4 

6 PFS FW878ZD Washer, Flat, 7/8", GD8, Zinc Dipped 4 

7 PFS RNH8C78P Nut, Regular, Hex 7/8" UNC, GD8 4 



www.ansermfg.com Quality Trailer Systems Built for the Long Haul 31 

2 Stage Tandem Reach 

Item Part Number Description Qty 

1 RE-COM-A01 79.5" x 3/8" Wall Compensator Pole 1 

1.1 RE-COM-001 Compensator Stop Ring 1 

1.2 RE-COM-025 Compensator Tube, 79.5" x 3/8" 1 

1.3 ANS U3082-41 Reach Eye Casting 1 

2 RE-COM-A05 Compensator Housing 1 

2.1 ANS CHB4 Bushing Compensator Housing 4 

2.2 ANS U3082-21 D-Ring Casting D-Ring 2 

2.3 RE-COM-003 D-Ring Compensator Bracket 1 

2.4 PAP 300 307 Pin Spring, 1/4" x 3/4" 7 

2.5 EUC E-1418 Spring, Rat Trap (Retainer Spring) (1 1/8" x 4 1/2" x 1/8") 2 

3 ANSU3082-21 D-Ring Bracket 1 

4 RE-COM-007 Compensator Mount Plate 1 

5 RE-COM-011(a) Inner Compensator Support - Quad Axle 1 

6 ANS U3082-3 Reach Clamp Assembly 1 

7 PFS CSH8C78-212 Socket Head Capscrew GD8 Bare 4 

8 PFS FW878ZD Washer, Flat, 7/8", GD8, Zinc Dipped 4 

9 PFS RNH8C78P Nut, Regular, Hex 7/8" UNC, GD8 4 



www.ansermfg.com Quality Trailer Systems Built for the Long Haul 32 

1 Stage Tridem Reach 

Item Part Number Description Qty 

1 RE-COM-A02 79.5" x 0.625" Wall Compensator Pole 1 

1.1 RE-COM-001 Compensator Stop Ring 1 

1.2 RE-COM-026 Compensator Tube, 79.5" x 5/8" Wall 1 

1.3 ANSU3082-41 Reach Eye Casting 1 

2 RE-COM-A05 Compensator Housing 1 

2.1 ANSCHB4 Bushing Compensator Housing 4 

2.2 ANSU3082-21 D-Ring Casting D-Ring 1 

2.3 RE-COM-003 D-Ring Compensator Bracket 1 

2.4 PAP 300 307 Pin Spring, 1/4" x 3/4" 7 

2.5 EUC E-1418 Spring, Rat Trap (Retainer Spring) (1 1/8" x 4 1/2" x 1/8") 2 

3 RE-COM-007 Compensator Mount Plate 1 



www.ansermfg.com Quality Trailer Systems Built for the Long Haul 33 

2 Stage Tridem Reach 

Item Part Number Description Qty 

1 RE-COM-A02 79.5" x 0.625" Wall Compensator Pole 1 

1.1 RE-COM-001 Compensator Stop Ring 1 

1.2 RE-COM-026 Compensator Tube, 79.5" x 5/8" Wall 1 

1.3 ANS U3082-41 Reach Eye Casting 1 

2 RE-COM-A05 Compensator Housing 1 

2.1 ANS CHB4 Bushing Compensator Housing 4 

2.2 ANS U3082-21 D-Ring Casting D-Ring 2 

2.3 RE-COM-003 D-Ring Compensator Bracket 1 

2.4 PAP 300 307 Pin Spring, 1/4" x 3/4" 7 

2.5 EUC E-1418 Spring, Rat Trap (Retainer Spring) (1 1/8" x 4 1/2" x 1/8") 2 

3 ANSU3082-21 D-Ring Bracket 1 

4 ANS U3082-3 Reach Clamp Assembly 1 

5 RE-COM-007 Compensator Mount Plate 1 

6 RE-A07-007 Compensator Support 1 

7 PFS CSH8C78-212 Socket Head Capscrew GD8 Bare 4 

8 PFS FW878ZD Washer, Flat, 7/8", GD8, Zinc Dipped 4 

9 PFS RNH8C78P Nut, Regular, Hex 7/8" UNC, GD8 4 



www.ansermfg.com Quality Trailer Systems Built for the Long Haul 34 

2 Stage 6’-6” Outer Tube Tri-Axle Reach 

Item Part Number Description Qty 

1 RE-A09-S01 2 Stage Tri-Axle - Inner Tube 1 

1.1 RE-COM-007 Compensator Mount Plate 1 

1.2 RE-COM-011(a) Inner Compensator Support - Quad Axle 1 

1.3 RE-COM-011(c) Inner Compensator Support - Tri-Axle 1 

1.4 PFS CSH8C78-212 Socket Head Capscrew GD8 Bare 4 

2 RE-COM-A05 Compensator Housing 1 

2.1 ANS CHB4 Bushing Compensator Housing 4 

2.2 ANS U3082-21 D-Ring Casting D-Ring 1 

2.3 RE-COM-003 D-Ring Compensator Bracket 1 

2.4 PAP 300 307 Pin Spring, 1/4" x 3/4" 7 

2.5 EUC E-1418 Spring, Rat Trap (Retainer Spring) (1 1/8" x 4 1/2" x 1/8") 2 

3 RE-COM-A06 90 3/4" x 3/8" Wall Compensator Pole 1 

3.1 RE-COM-001 Compensator Stop Ring 1 

3.2 RE-COM-029 Compensator Tube, 90 3/4" x 3/8" 1 

3.3 ANS U3082-41 Reach Eye Casting 1 

4 RE-COM-A07 Positive Pin Reach Lock 1 

5 ANS U3082-3 Reach Clamp Assembly 1 

6 ANS M-E-2.5 X 34.5 Spring Bunk / Reach (2 1/2" x 34 1/2" x 1/2") 2 

7 1018455 G-209 Screw Pin Shackle, 1/2" 4 

8 70 Chain x 0.500 70 Chain x 1/2" - 3 Links 2 

9 
70 Chain x 0.500 (5 
Links) 

70 Chain x 1/2" - 5 Links 2 

10 PRE 424(L/R) 440 Hinge Assembly Housing 2 



www.ansermfg.com Quality Trailer Systems Built for the Long Haul 35 

2 Stage 7’-4” Outer Tube Tri-Axle Reach 

Item Part Number Description Qty 

1 RE-A10-S01 2 Stage Tri-Axle Inner Tube 1 

1.1 RE-COM-007 Compensator Mount Plate 1 

1.2 RE-COM-011(a) Inner Compensator Support - Quad Axle 1 

1.3 RE-COM-011(c) Inner Compensator Support - Tri-Axle 1 

1.4 PFS CSH8C78-212 Socket Head Capscrew GD8 Bare 4 

2 RE-COM-A05 Compensator Housing 1 

2.1 ANS CHB4 Bushing Compensator Housing 4 

2.2 ANS U3082-21 D-Ring Casting D-Ring 1 

2.3 RE-COM-003 D-Ring Compensator Bracket 1 

2.4 PAP 300 307 Pin Spring, 1/4" x 3/4" 7 

2.5 EUC E-1418 Spring, Rat Trap (Retainer Spring) (1 1/8" x 4 1/2" x 1/8") 2 

3 RE-COM-A07 Positive Pin Reach Lock 1 

4 RE-COM-A10 101" x 0.375" Wall Compensator Pole (TA Short Log) 1 

4.1 RE-COM-049 Compensator Tube, 101.0000 x .3750 1 

4.2 ANS U3082-41 Reach Eye Casting 1 

5 RE-COM-040 Compensator Lock Ring 1 

6 ANS U3082-3 Reach Clamp Assembly 1 

7 PRE 424(L/R) 440 Hinge Assembly Housing 2 

8 ANS M-E-2.5 X 34.5 Spring Bunk / Reach (2 1/2" x 34 1/2" x 1/2") 2 

9 1018455 G-209 Screw Pin Shackle, 1/2" 4 

10 70 Chain x 0.500 70 Chain x 1/2" - 3 Links 2 

11 70 Chain x 0.500 70 Chain x 1/2" - 9 Links 2 

12 PFS FW878ZD Washer, Flat, 7/8", GD8, Zinc Dipped 4 

13 PFS RNH8C78P Nut, Regular, Hex 7/8" UNC, GD8 4 



www.ansermfg.com Quality Trailer Systems Built for the Long Haul 36 

Reach Replacement Parts 

Item Part Number Description Qty 

- RE-COM-011(a) Inner Compensator Support - Quad-Axle 1 

- RE-COM-011(b) Inner Compensator Support - Tri-Axle 1 

- RE-COM-011(c) Inner Compensator Support - Tandem 2 

Item Part Number Description Qty 

- RE-COM-030 Mounting Plate for Compensator 1 

- RE-COM-030(a) Mounting Plate for Compensator - Quad 1 

Item Part Number Description Qty 

- RE-COM-024-S12 1/2" Short Lifting Lug 1 

- RE-COM-024-T12 1/2" Tall Lifting Lug 1 

- RE-COM-024-S58 5/8" Short Lifting Lug 1 

Item Part Number Description Qty 

- RE-COM-023(a) Lifting Lug Base 1 

- RE-COM-023(b) Lifting Lug Base - Small 1 

Item Part Number Description Qty 

- RE-COM-006 Spring Bracket 1 

Item Part Number Description Qty 

- RE-A02-025 Air Pot Guard 1 

Item Part Number Description Qty 

- COM-066S Solid Safety Chain Mount 1 


